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EASTERN UNIVERSITY, SRI LANKA

SPECIAL REPEAT EXAMINATION

FINAL YEAR lsr SEMESTER EXAMINATION lN AGRICULTURE - July 2019

EC 4101: PROJECT PLANNING AND INVESTMENT ANALYSIS

PRACTICAL EXAMINATION

Time: 02 hour Answer ALL questions.

1. a) How is the Discount Factor decided for discounting cash flows?

b) Write the Discount Factor formula, using standard notations'

c) What is the purpose of the Discount Factor Table in project appraisal?

d) lf you wish to obtain Rs.500,000 after 10 years, what is the amount of money

that has to be invested currently at 8% per year interest rate? (20 marks)

2. Gayaani FOODS (Pvt.) Ltd. is considering an investment program of Rs.60 Mn.

has a choice of three projects (A,B & C) each of which cost Rs.30 Mn. The firm
expects a minimum return of 10% on capital invested.

Forecasted Net Cash (Benefits - Costs) Flows (Rs.Mn) for the Projects are

shown below. r

Proiect A
lce Cream Making

Proiect B
Fresh Milk Packets

Proiect C
Prawn Packaging
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Discourlt factors (Df) at 10o/o arc provided in the Discount Factor table attached.

Using the above information perform an investment appraisal of the 3 proiects
using the Net Present Vatue (NPV) approach and identify which of the projects

can be recommended for investment to the firm. Justify your answer clearly.
(30 marks)



3. Renuka Agric. Ltd. is interested in investing in a paddy millto process raw paddy

into rice for sale to consumers locally. The total investment on the Rice Mill is

Rs.6 million. The rice mill has a life time of 20 years of operation and the benefits

are the sale of milled rice packets and rice bran & husks' Details of the rice mill

investment and operations are shown in the Table below.

Sale of Rice
Bran & IlusksYear Construction

Costs

Operating Costs Sale of Rice
packets

0 0 0
1 3,000,000

2 3,000,000 0 0 0

200,000 500,000 100,000
J 0

4 0 , 200,000 500,000 100,000

5 0 200,000 500,000 100,000

500,000 , 100,000
6 0 200,000

7 0 200,000 600,000 150,000

8 0 300,000 700,000 150,000

9 0 300,000 700,000 150,000

700,000 150,000
l0 0 400,000

400,000

I

800,000

J

150,000

T

1l

J

0

J

20 0 400,000 800,000 150,000

using the above information about the Rice Mill investment combined with a discount

rute of 6o/o(Discount factor table is provided);

1) calculate the Net Present Yalue (NPD and Benefit cost Ratio (BCR) and

ii)EstimatethelnternalRateofReturn(IRR)oftheinvestment.
(30 marks)
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4. The Table below shows the Activity Chart for a project which indicates the

activities/tasks, tasks duration, dependencies and the milestones.

Activity / Tasks Duration (Weeks) Dependencies

T1

T2

T3

T4

T5

T6

T7

T8

T9

T10

T11

T12

8

15

15

10

10

5

20

25

15

15

7

10

T1 (M1)

T2,T4 (M2)

T1, T2 (M3)

11 (M1)

T4 (M5)

T3, T6 (M4)

T5, T7 (M7)

re (M6)

T11 (M8)

Using the above data of the projqct; answer the following questions.

What is the minimum total duration of this project?

Draw the GANTT Ghart /Activity Bar Chart showing all the activities/tasks.

Draw the Activity Network diagram clearly showing all the tasks, dependencies

and milestones.
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Discount Factor Table

DlScOUttlT FACTOR {p.a.} FOR A RANGE OF DISCOUNT RATES

Present Value of $1 in the Future at Discount Rate rolo
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